REVISION
I Identify the adjacency pair type.
1. A. Where is the book I bought this morning?

B. On the table. (Question – Answer)
2. A. You left the light on.

B. It was not me. (Blame – Denial)
3. A. I am sorry to disturb you.

B. That's all right. (Apology – Acceptance)
4. A. Would you open the window?

B. Sure. (Request – grant) 
5. A. I am having some people to dinner Saturday. And I would really like you to come. 
B. Sure. (Invitation – Acceptance) 
6. A. Hi.

B. Hi, there. (Greeting – Greeting) 
7. A. John, come over.

B. Here I come. (Summons – Answer)

II Decide whether the second pair part is preferred or dispreferred.
1. A: I think Ralph is a good writer.

B: I think so too. (preferred)
2. A: Would it be possible for you to meet me tomorrow?

B: Well, I doubt it. (dispreferred)
3. A: Hi there.

B: Bye. (dispreferred)
4. A: I think we are barking up the wrong tree.

B: I don't wish to discuss this. (dispreferred)

III What organisation pattern is present in the following conversations? What are the functions of each turn? 
1. Doctor: Are you sleeping well?

Patient:  No, not at all.

Doctor: Hmm. That could be the problem. (exchange: question + answer + reaction / feedback)
2. Teacher: What is the capital of France?

Pupil:    Paris, Miss.

Teacher: Good. (exchange: question + answer + assessment / feedback)

3. Bob: You scared me when you yelled.
Mary: It was not yelling. I was warming up my voice. 

(adjacency pair: blame + denial)

IV Identify the organisation pattern and the function of each turn. Which adjacency pair is core? 

1. - Can I borrow your water hose? (request)
- Do you need it at this very moment? (question)
- No. (answer)
- Yes. (grant)
(2 adjacency pairs; the core adjacency pair – lines 1 and 4; insertion sequence: lines 2 and 3) 
2. - Have you got the time? (question 1)
- Standard or daylight saving? (question 2)
- What are you running on? (question 3)
- Standard. (answer 3)
- Standard then. (answer 2)
- It's five o'clock. (answer 1)
(3 adjacency pairs; the core adjacency pair: 1st and 6th line; two insertion sequences: lines 2 and 5, lines 3 and 4)
3. Parent:  You've been playing in the mud again. (blame)
Child:   I haven't. (denial)
Parent:  Don't answer back. And don't tell lies. (critism / feedback)

(exchange)
4. - Have you washed your hands? (request/question 1)
- No, why? (answer 1+question 2)
- Cause dinner's ready. (answer 2)
- Okay, I'll do it. (grant)
(two adjacency pairs; the core adjacency pair: lines 1 and 4; one insertion sequence – lines 2 and 3)

V In the following conversations, which adjacency pair is core and what is the function of the other one?

1. A: Did you hear the news? (question)


B: No, what? (answer + question) 



A : I’m engaged! (announcement)


B: WOW! (reaction (of surprise...))
(the first two lines: pre-expansion; lines 3 and 4 – core adjacency pair)
2. A: Who was it that said you couldn’t go? (question 1)


B: Steve. (answer 1) 





A: Who’s he? (question 2)
B: He’s in charge of registration, he said they were full up. (question 2)
(the first two lines – core adjacency pair; lines 3 and 4 – post-expansion)
3. A: Can I ask you something? (request) 
B: Go ahead. (grant)
A: Who’s Mike? (question)
B: Oh, just a guy from work. (answer)
(lines 1  and 2 – pre-expansion; lines 3 and 4 – core adjacency pair)
4. A: How are you? (question 1)
B: Not so well. (answer 1)
A: Oh why, what’s happened? (question 2)
B: Nothing important. (answer 2)
(lines 1 and 2 – core adjacency pair; lines 3 and 4 – post-expansion)

VI What is the function of the highlighted items?





1. You see, I don’t know how to tell him. (discourse marker)
2. uh huh, we agree on this. (backchannel)
3. I don’t want to talk about it anymore. Anyway, how are things with you? (discourse marker)
- Well, fine. (discourse marker)

VII What is the function of these discourse markers?

1. More and more people are opposed to the idea of increasing university fees. Moreover, there is now evidence that it discourages many students from coming to the UK. (addition)
2. Provided you pay me back by Friday, I’ll lend you the money. (condition)
3. It’s a difficult race. Nevertheless, about 1,000 runners participate every year. (contrast)
4. They’ve increased the number of staff and consequently the service is better. (cause-effect)
5. Did you do it? – Um... well... (hesitation)
X Which conversational maxim was flouted in the following conversations? Was the flouting intentional or not?

1. Come on, tell me your secret.

- The weather seems to be very nice today, doesn’t it? (maxim of relevance; intentional)
2. Does it suit me?

- Oh, yes dear, it’s lovely. (you think it is horrid, in fact) (maxim of quality; intentional)
3. Hey there. How are you?

- Actually, not so well. Had a knee surgery two weeks ago. And my back is killing me. I’ve been taking my usual medications but they don’t seem to help me anymore. I think I’ll change my doctor. Or try some alternative medicine. The last time I visited my doctor, he told me... (maxim of quantity; unintentional)
4. I’m asking you for the last time, did you do it?

- I might have. (maxim of manner; intentional)
XI Decide on the type of the reference devices given in bold.
1. I can see a bird. It is singing. (it – endophoric, anaphoric)
2. When they arrived at the house, all the guests were very tired.  (they – endophoric, cataphoric)
3. Did you see that? (that – exophoric)
4. A: Where’s the remote control? (the – exophoric)
B:  I saw it on the sofa a few moments ago. (I – exophoric; it – endophoric, anaphoric; the – exophoric)
A: I’ll say this for the last time: leave it under the telly! (I – exophoric; this – endophoric, cataphoric; it – endophoric, anaphoric)
5. Look at the sun. It's going down quickly.  (the – exophoric; it – endophoric, anaphoric)
6. It's going down quickly, the sun.  (It – endophoric, cataphoric; the – exophoric)
7. Mary saw an apple on the table. She ate it. (she, it – endophoric, anaphoric)
8. If she had gone and talk to them, we would not be in this situation. This did not happen. (she, them, this – exophoric; this – endophoric, anaphoric)
9. What is this? (this – exophoric)
10. This is how to get the best results. You let the berries dry in the sun, till all the moisture has gone out of them.

(this – endophoric, cataphoric)

II Decide whether these are cases of substitution or ellipsis.
1. What kind of cupcake would you like? - A chocolate one, please. (one – substitution)
2. Seen my gloves anywhere? - They’re in the kitchen. (have you – ellipsis)
3. I didn’t like the film, but everyone else did. (did – substitution) 
4. Who saw the tooth fairy? - Bob. (saw the tooth fairy – ellipsis) 
5. My kids play too much. Both are incredibly energetic. (of them – ellipsis)
6. Why are you going there? Don’t you know that it's prohibited?

     - Really? I didn’t know. (that – ellipsis)
7. Are you ready yet?
      - Yes. (I am ready – ellipsis) 
8. Annie says you eat too much!

    -  So do you. (so do – substitution) 
9. Is it going to rain?

    - I think so. (so – substitution) 
10. There are some sweets in the bag. These ones are someone else's.

(ones – substitution; sweets – ellipsis) 

XI Analyse the cohesion in the following texts. Use the diagram below to organise your analysis.
The student sighed as she handed in the assignment, at last it was finished. This was the most difficult piece of writing which she had been given, but she had completed it. The ‘magnum opus’ was 10,000 words long. This project, though Ø not quite a dissertation, was still the longest piece of academic writing which she had ever written. She had thought that she would never complete it and it had taken all her strength to do so.

Her achievement made her elated, but Ø had left her exhausted. When she had read the title of the task, she knew it was not going to be just another essay, Ø not an easy one at all. Finally, the completed work lay on the counter of the reception – Ø beautifully bound. She would sleep easy at night, no longer troubled by thoughts of its accusing blank pages – the nightmare was over!    
1.   Grammatical cohesion

· Reference

Reference chain 1: the student: she (x9), her (x3)
Reference chain 2: the assignment: it (x5), its, this (x2)
· Substitution: do so, one
· Ellipsis: marked in the text (Ø)
· Conjunctions: as, at last, but, though, that, and, but, when, finally
2. Lexical cohesion:

· Repetition

Repetition chain 1: piece of (writing), piece of (academic writing)
Repetition chain 1b: writing, writing, written

Repetition chain 2: completed, complete, completed

Repetition chain 3: long, longest

Repetition chain 4: easy, easy
· Synonymy
Synonym chain 1: assignment, project, task
Synonym chain 2: piece of writing, essay, dissertation, work, (magnum) opus

Synonym chain 3: complete, finish, over
· Antonymy
Antonym chain 1: difficult, easy
· Taxonomy
Superordinate: piece of writing / essay / work

Subordinates: pages, words, title

- Collocations: hand in assignment, taken all strength, sleep easy
B.

The idea that working in groups is a bad thing is a fundamentally mistaken one because, overall, the advantages of this way of configuring the class outweigh the potential disadvantages. In groups there is the opportunity for peer teaching, which can often be invaluable. In addition, lessons organised in this way become less teacher-centred. Moreover, in life today, team-working is a feature of every workplace and one of the roles of university education is to provide a preparation for students' future careers.

Firstly, peer teaching can contribute to effective learning in most classroom situations. Many students (especially Ø in large classes) can benefit from this approach. Weaker students are often less afraid of making mistakes and taking risks in front of their peers, than Ø in close contact with their teacher or in front of the whole class. Also, with regard to the stronger students, a perfect way to consolidate their learning is to transmit that knowledge to others. Furthermore, most pedagogic approaches today concur that a lesson that is focused on the teacher at all times, is one from which the students are unlikely to benefit. Certainly, some classroom activities, like project work for example, are best conducted in small groups. The teacher as the source of all wisdom standing at the front of the class, the 'jug and mug' model of education, is not only antiquated, but Ø also ineffective.

In conclusion then, while it may sometimes be true that the weak students may 'take it easy' sometimes working in groups, allowing others to work hard to compensate for their laziness, if the lesson materials are interesting and the teacher motivating, this is a rare occurrence. As Ø outlined above, there are so many 'pros' to this method of classroom configuration that these Ø easily outweigh this somewhat questionable 'con'. 

3.   Grammatical cohesion

· Reference

Reference chain 1: working in groups: this (way), this (way), this (method)

Reference chain 2: opportunity: which
Reference chain 3: peer teaching: this (approach)

Reference chain 4: weaker students: their (peers), their (teacher), others (par. 2)

Reference chain 5: stronger students: their (learning), others (par. 3)

Reference chain 6: lesson: that, which

Reference chain 7: the weak students may take it easy...: this (is rare occurrence), this (con)

Reference chain 8: pros: these

-       Substitution: one (par. 1), one (par. 2)
· Ellipsis: marked in the text
· Conjunctions: that, because, in addition, moreover, and, and, also, furthermore, that, not only...but also, in conclusion, then, while, if, and, as
4. Lexical cohesion:

· Repetition

Repetition chain 1: groups (x4)
Repetition chain 1b: working in groups (x2)

Repetition chain 2: working (x3), workplace, work (x2)
Repetition chain 3: teacher (x5), teaching (x2)
Repetition chain 4: peer (x2), peers
Repetition chain 5: class (x3), classes

Repetition chain 6: classroom (x3)

Repetition chain 7: education (x2)
Repetition chain 8: learning (x2)

Repetition chain 9: approach, approaches

Repetition chain 10: lessons, lesson (x2)

Repetition chain 11: weaker, weak

Repetition chain 12: benefit (x2)

Repetition chain 13: students (x6)

Repetition chain 14: configuring, configuration

Repetition chain 15: in front of (x3)

Repetition chain 16: outweigh (x2)

Repetition chain 17: easy, easily
· Synonymy
Synonym chain 1: advantage, pro, benefit
Synonym chain 2: disadvantage, con
Synonym chain 3: groups, teams
Synonym chain 4: lesson, class

Synonym chain 5: students, peers

Synonym chain 6: approach, method, way, model

Synonym chain 7: workplace, careers

Synonym chain 8: perfect, best

Synonym chain 9: work, activities

Synonym chain 10: teacher-centred (lesson), (lesson) focused on the teacher

· Antonymy
Antonym chain 1: weaker, stronger
Antonym chain 2: effective, ineffective

Antonym chain 3: advantages, disadvantages

Antonym chain 4: pros, cons

Antonym chain 5: unlikely, certainly

Antonym chain 6: work (hard), laziness

Antonym chain 7: peer-teaching / working in groups – teacher-centred (lessons)

Antonym chain 8: large (classes), small (groups)

Antonym chain 9: take it easy, work hard
· Taxonomy
Superordinate: 


     education
Subordinates:
         

teaching/learning


class 
    teacher
method

classroom
activities
lesson
    student
approach


lesson materials


    peer

model



tested









working in groups/teams




peer teaching




teacher-centred/focused on the teacher

- Collocations: fundamentally mistaken, advantages outweigh disadvantages, invaluable opportunity, benefit from, make mistakes, take risks, close contact, consolidate learning, transmit knowledge, conduct activities, work hard, compensate for
